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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a complete Question Booklet of
the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg.No., Student ID, Q.P. Code, Question Booklet
version code and affix sighature on the OMR sheet. As the answer sheets are
designed to suit the Optical Mark Reader (O.M.R.) system, special care should be
taken to fill those items accurately.

4. This Question Booklet contains 55 questions. All questions must be attempted.
Each question contains four answers, among them one correct answer should be
selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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Q.P. Code : 96041 A A

PART - A/ %00 - &

Attempt all questions. Each question carries 1 mark : (40 x 1 = 40)
BINT 2 FIrids), ov3d2. I3 BFT 1 w08 :

Bank Rate policy is the method of credit control.
(A) quantitative methods (B) qualitative method
(C) weighted average methods (D) all the above
w3080 B3 dedad F3) Aadod, e QPIVZNG.

(v¥) SOIPTZF T (w) MODEE P

(¥3) BT FTIRD AT (B) Foeds a0Fw

Who decides how much quantity of the coins to be minted?
(A) Government of India (B) RBI

(C) SEBI (D) Prime Minister
03T DoY) MZETY, T20dNFAW,S AFT SPEIZH.

() 2203 3T T () RBI
(:3) SEBI (@) Tpes 3008

Current Accounts are mainly opened by

(A) Professionals (B) Agriculturists

(C) Salaried class (D) Trading and Industrialists
1599 23300LR), Bwa)eeN dBad)Bd

(®) SB/redscd (W) AT
(8) =owd InFd = (@) =R@0 B3 3Medd FoworHeIFTd

What kind of an asset is goodwill as per the Indian Accounting Standards?
(A) Fictitious asset (B) Intangible asset

(C) Current asset (D) Fixed asset
ROBODLF® ¥TOOLON' FYOEE'E 50 ol B3) e, 0d QB0 HFeFTNG?

(¥) 3933 (w) wBF 3%
(33) wosy (@) Qrids ey
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Q.P. Code : 96041 A

3.

Services rendered by banker to general public are called as
(A) Principal services (B) Agency services
(C) General utility services (D) Social services
WR0T0° FDF WATON AeBIT BeSnvn), HRom> FB030FYT?

(8) S Zesried () =ox Bedrieh

(B3) =Bow; Fodeews JeSndd (B) =300us Jedndh

The ability of commercial banks to increase their deposits by expanding their
loans and advances is known as

(A) Capital expansion (B) Credit expansion
(C) Credit control (D) Credit creation
99 LI0TINY BART FZOFE , 50 Fo3Y BoNB DFTH FRBIR) TR, HBTIFTO?

(v) woBZeY HFU (v) Do T
(B) mo® Q003 e (B) o dS0Fn

Which bank started its business as banking company from October 1, 20047
(A) IDBI (B) Vijaya Bank

(€} BBl (D) SBM

2004 ©8R£00° 10080 03N 239,08 WR0BACT ) FoBD DHITVID), T7ip0BR?

(o) IDBI (w) dwad w080

() SBI (@) SBM

At what frequency can banks pay interest on Savings Bank Account as per
RBI guidelines?

(A) Monthly (B) Quarterly

(C) Half yearly (D) Yearly

RBI® ddee3nm Soednt 0dns &asaobc‘)mza%oﬁan’@a P30 3N Soeed ?.)63&3 QeBOZI?
(@) 38on¢ (w) 3 Boa3

(¥3) oge ST (B) ears
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o

10.

11,

12;

First Indian Governor of the RBI

(A)ariCLEl Deshmukh (B) Sachindra Ray
(@) 8 Mukherjee (D) D.I. G. Patil
P030 RBIR S060 rxzeos QdTL?

(¥) 2.8 dezszare (w) oz, e

(¥3) oz I (B) B.2.28 Zatieer

(A)  Liquidity Ratio (B) Statutory Liquidity Ratio
(C) Cash Reserve Ratio (D) None of these

€05, w3088 BT Bredit WROTOTI Beow, 47,0839 w@SeEOn Trics RoogmD SOy,
DBOB BAI[T?

(®) B33 o (») =mwI5 B2 o
(8) I Qesen BRomg (B) cinyEe ve

Among the following which ig not the service of Commercial Bank?

(A) ATM (B) Extension counters of a Bank
(C) Clearing House (D) Internet Banking

wﬁw@mﬂq QdF)wo meéz% 233,08 ﬂeﬁrftv‘eg_j?

(®) ATM () deén‘%’adﬂoa’ 3,08 HFTES

() n® 5rose (®) w©osware W 0one

Who among the below has not served as RBI Governor?
(A) Y.V Reddy (B) Bimal Jalan
(C)  Manmohan Singh (D)  S.M. Krishna
BYNS aindy RBI nsmeos &0 Jesd 3qmmwaq?

(o) .9 ol (W) DBwer mops
(¥W) d>e*Becsn somr (@) ozf.a0. LS
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13.

14.

15:

16.

17.

Minimum period of a certificate of Deposit is

(A) 15 days (B) 30 days
(C) 10 days (D) 7 days
Besed TR ST TR, ¥3H

(v) 15 d3nd (w) 30 Deried
(¥) 10 B N (@) 7 osned

Full form of SLR

(A) Statutory Liquidity Ratio (B) State Level Recovery
(C) Sundry Leverage Ratio (D) State Liquidity Ratio
DFF. QP08 DR 3 ORI

(¥) RS WG By EOTII (w) Dozg BowE SZee
(8) e g BTOTI (B) Oog B, wROTI

Under the Banking Ombudsman scheme the value of claim should not exceed

(A) 5Slac (B) 10 lac

(€} 15 lac (D) 20 lac

23,0801 0T ZOT? 080 ez 03RO, BB, IFQ, HR), WETWBIW?
(o) am oy (0) =3 of

(8) o> og (3) == o8

What is the full form of CBS?

(A) Core Banking Solution (B) Core Banking Software
C) Core Banking System (D) Core Banking Service
2.0.0%.8 J5 3 BT

(0) Beok w0801 AAORRD? (w) BRE® W3R 080N° FOFFEO?
(23) Bweco® wR080N° A7 (@) Boeo® g 0d0nt Fesd

How many Banks were in second phase of Nationalization?

20BSe BoIBE T rF0NIR0B 205 I DAY

(R B) 5
(C) 6 D) 7
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18.

19.

Who will act as the banker to the Government of India?

(A)  State Bank of India (B) Reserve Bank of India
(C) NABARD (D) Nationalized Banks
03 ﬁﬁ)t—'o'i% L3,050° &3 IIFROITHT 0dPTH?

() Reest W05° e35° Q0B (W) 2908cod dRx'r 39,05
(W) Swem's (®) oodsgs 233,080Meh

When was Reserve Bank of India Nationalized?
Jo08e0d) DR w%o# oa%cﬁdeaﬂmoam% odn=an?

(A) - 1947 (B) 1948
(C) 1949 (D) 1950

When was Lead Bank Scheme introduced?
dew® uaéoa“ cﬁ.mcz:.wabidgt odnaert 30w oBeRonE)?

(A) 1967 (B) 1968
(C) 1969 (D) 1974

Who introduced the Banking Ombudsman Scheme?
(A) RBI (B) SBI

(C) Ministry of Finance (D) NABARD
R 0dory 20N I od.mezsﬁfabd_l TOWORWSTL adwdy?
(o) wsof.do. (») 7.0

(¥8) BTERL FWT0d) (B) wwemss

Who regulates the mutual funds in India?

(A) FRBI (B) SEBI

(C) SIDBI (D) RBI
PUZTY BUET VBN, D) V008 Z033?

(8) oF.es08.9.0. (») =2
(B) =280 (B) @t
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28.

24k,

26

26

2.

Where is RBI Head Office?

(A) Jaipur (B) Mumbai
(&) ALPune (D) Kerala
RBI 3eodw, 3ejed HOT?

(v) wHT (w) S0,
(B) I (@) Beod

The Apex institution that gives agricultural related finance
(A) NABARD (B) EXIM Bank
(C)TRBI (D) IDBI

T4 ROWOD BT QeREOS e&a’a‘Nﬁoﬁa

() NABARD () EXIM 23,05°

() RBI (@) IDBI

Which Bank is called Investment Banks?

(A) Exchange Banks (B) RBI

(C) Industrial Banks (D) Agricultural Banks
Qd7E 23,08onH®Y BHRT 1 030NF0T) g adbend?

() dIBoad 239,05° () RBI

(28) me0dF 239080 (B) BAWO

Banking ombudsman was established under Banking Regulation Act, 1949 in
the year with effect from

23,0807 Q0302 T2, 1949 BB 29,0807 L,0WETFOT FTTINT IIF
(A) 2000 (B) 1995
(C) 2008 (D) 2012

Which account permits to over draw of money?
(A) Savings account (B) Current account
(C) Term account (D) Recurring deposit account

03 27300 LBOE, (T30 B3 BeFO) BN, BBobew FF3 erdernnds?
() evdza0d 303 (w) wed 193
(B) o3P 93 (B) Rooones dexed o3
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28.

29.

30.

S

S

In NEFT, E signifies

(A) Electric (B) Electronic
(C) Elevation (D) Eligible
NEFT®S9 E o, BRUROTT.

() o35 (W) 2d5e M
(B) odbex® (B) odwmwer

The first development financial institution in India that has got merged with a
bank is

(A) IDBI (B) ICICI
{€) IDEC [B) UTT
Pa03wA), w305 M0l ADeTTIP0E ST BPFH BevToR0 F0F

(o) 2.8 (W) 2.2.2.290.

(¥) .85 (@) o688

Which is the largest private sector bank of India?

03T 03 zoaasoﬁo DFYTTT oz Swobs z.m?somﬁci?

(A}, ICICI (B) HDFC

(C)  UBI (D) PNB

Expand RTGS

(A) Real Time General Statement (B) Real Time Gross Settlement
(C) Real Time Gross System (D)  Real Time Great System
RTGS®), 250.

(¥) Dodberf 8=5* wrver Feestsdroest (w) Doberf 8= mos® Aeserzdots®
(23) Dober B[ Mya° ARE* (B) ODober e3R5° rfees® A535°

is India’s first original Bank.

mﬂoa} 03T INTO Awr mﬂoﬁ).
(A) PNB (B) RBI
(€] SBI (D) e
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33.

34

DD

36.

Q]

Who is the present Governor of RBI?

(A)" Urjit Patel (B) Dr. Raghuram Rajan

(C) Dr. Shaktikanta Das (D) Bimal Jalan

Pavdead) DRt zmeso%ai TR NIVEO® ad5pcL?

(¥) ©neRrs® Deleesf (W) ©o. TPLTIS® Takw*

() wo. 835008 WoR (B) Dk mod

What will be the impact on the cash reserve of commercial banks of
RBI conducts a sale of securities?

(A) Increase (B)., Decrease

(C) Remain constant (D) Increase or decrease

WaUdcod DR z:mdoso Pyodneg abaoawﬁaii SPBTY, Sty mgjoﬁ)m} BRE DERIT Soees
DR BOHROTNIZEY?

(v) 03 (W) w93
() 20=dNGZY (@) 208 303 998

Hypothecation is applicable in the case of
(A) Movable goods (B) Immovable property

(C) Book debts (D) Corporate guarantee
BB T ) wdawomrb;z)m

(®) 238 30Boried (2) 203D
@ -]
(33) B3 o (B) ov0 a3

With which bank syndicate Bank merged according to the recent August
2019 merger?

(A) Corporation Bank (B) Canara Bank

(C) Vijaya Bank (D) Andhra Bank

2geds ©nint, 20198 HDeIW 52T, 208 ets® w3080 IR 1, 03VABT Jewrind) 3?7
(v) vodperdesn® w08y () IO W0

(53) DT3OIT ?,Jaasoﬁo (zﬁ) esoqj, zaaﬂoﬁ)
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P. Code : 96041 AR

A customer is required to maintain adequate balance in his/her accounts in

order to use his card in the merchant establishments.
(A) Smart card (B) Credit card
(C) Add-on credit card (D) Debit card

W) MBTR TOBER), IO RoANYD weimen FTR), By 3T edodd)
BROVTUEB.

¥) D TrEr W) B R sartr
& -
(@) 3edoL SBes sawte (B) B ws

KYC norms were implemented in 2002 as per the directive of
200289 KYC aow ¥0BIR), 0dnT ABer3TE Soedrt 2901 FoeaE?
(A) SEBI (B) RBI

(C) IBA (D) IRDA

Venture capital firms are usually organized as
(A) Closed-end mutual funds (B) Limited partnership
(C) Corporations (D) Non profit business

TBI WOBZY ﬁo:u;rie#o maﬁoafdﬁmﬁ qsdﬁm feoR3OR)Bord

(¥) SYE - 3,8 oY APriLd (W) Q3 Tewwedd
(B3) vodperdern® (B) oyl J3Ba0
Which of the following is not a public sector bank in India?
(A) Andhra Bank (B) Federal Bank

(C) IDBI Bank (D) Vijaya Bank
IRNYE adoZ)wo 03B WSEHAT SOohE mﬂoﬁo Be?

(v) eog, 233,08 (v) PETeF 239,080

(¥) IDBI a3,08 (B) desadm w08
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41.

42,

43.

44,

PART - B/ 2R - ® 5

Answer all questions. Each question carries 2 marks : (15x2=3
DR, TINYD), VDA, B,80d0080 BB 2 ©ooNeL :

How many public sector banks are there in India?

WUBBY HR) MDEWAT SOODT wWI0TINIS?

A (B) 19
(C) 20 D) 14

The buying of shares and bonds of Indian firms by foreign institutional investc

is known as )

(A) FDI (B) Portfolio investment

(C) NRI investment (D) Foreign indirect investment

Pa03eod ToBANY Fedorieth Doy wWeoBINYRD), JWe3 F0AT BRBIDITD FRNFH)T
DT €:.

(&) FDI (W) Ipetss Fpedodne BRRT

(3) NRI 20833 (B) aded FIdecy BPBF

A cheque is dated 12/05/20. The due date is
0% YT TSRS Bmeos 12/05/20 &wd b DFeos

(A) 12/08/20 (B) 14/09/20

(CF" 12/ T1/20 (D) None of these
BoedT odR)Be ¥e)

What is the most powerful tool used by the RBI to control inflation?

(A) Raise interest rates (B) Raise current supply

(C) Reduce current supply (D) Reduce interest rates

BT TIT), A0 Jo03e0d) DIT'E 39,05° WIS 3,03 33z ¥x, 0dRYBO?
(®) 28 BT BWROHTO (w) =3 IRGE £z§§3§)w

() B3 BRTF WROB (B) wBES sBIRATRBH f

-
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What happens if a crossed cheque is presented for payment?
(A) It can be paid only through a banker
(B) It cannot be paid at all

(C) It can be paid across the counter in another bank
(D) None of the above
WOt Fee T zsseagl DD wY¥BBLTS DTrHIW?

(®) 233,050° I3, m=dzen BN
(v) B$Benrvz)de Q0
(8) et L 0F VY B8R WBIE)
(B) B0cds aimz)mne e

What is call money?

(A)  Money borrowed or lent for a day or overnight

(B)  Money borrowed for more than one day but upto 3 days

(C)  Money borrowed for more than one day but upto 14 days

(D) All the above

50° 0 0wTemy?

() 2000 BXE SOt e TodR,c008 BRIV, O IToT)@0 VBDo FRBOZ)R)
W) 20w BT et Ioetd Bnesd B0 POT IZad

) wom) BF d’“ﬂ)&% 3&)&3&\& BVRIISH B AOT, 30O

B) Heds AOTP

\ person is given ATM card. If he has Account.
)  Savings Account (B) Loan Account
C) Term Deposit Account (D)  None

;30dn 3 BP0DFT ATM sows VBRI,

¥) ev¥sa0h a7 (W) wow a3

8) 3% Feses ana (B) cinz)@e 8e)

13/16

A0

P.T.O.

SKE



Q.P. Code : 96041 O

48. Kisan credit card is given to
(A) Traders (B) Industrialists
(C) Farmers (D) Public
3man* 8B Tertre), RS0N derdeorzgss

(¥) =TI (w) eREBONG

(8¥) Bz (B) mSFHATA

49. The first public sector bank that gave public capital is
(A) Indian Overseas Bank (B) Oriental Bank of Commerce
(C) Corporation Bank (D) Punjab National Bank ’

H3rEdE WOBDY BT AT TIEWAT mﬁoﬁo

(¥9) WOBODV® LBTHCE® 23,080 (w) DoboEF 239,05° BP° TISOFE
(13) vIBPEFTERT® R0 (@) Towsew® WRTL® 230%°

50. Major assets of commercial banks are
(A) Commercial loans (B) Consumer loans
(C) Deposits (D) Both (A) and (C)
Toedy; LR;080MY T 3040
(v) oty TONW (W) T O

(23) SeSesried (@) (A) 3 (C) 208

51. Which combines both intellectual resources and fund resources?
(A) Venture capital (B) Traders banking
(C) Contract (D) None of the above
odR)BO wBT0ENY BOoBVRLONL 3033 ARoD ﬁo:‘sme}e)ﬂ@d%dfae&md 3,003 »NE?
(¥) B WoBIY (w) o@D W 0BT

() rdn (B) HoedT 0IORBR ¥,

A 14/16 A
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S2.

53.

54.

Quantitative credit control method is

(A)  Selective credit control (B) Moral suasion

(C) Bank rate policy (D)  None of the above
;-o*amﬁ-as@s B3 Dabos, e APITD)

(®) Bodob He Dado3 e (v) 838 oeZpdO0e
(@) w08 BT Qes (B) S0eds adn)mne Q)

On which date RBJ was established?

(A)  1st September 1940 (B) 15t August 1947
(C) 1stApril 1935 (D) 26mn January 1950
RBI adwzan AW 0dI00aB07?

(®) BBowe 1, 1940 (W) uriz? 15, 1947
(¥) »aer1, 1935 (B®) =338 26, 1950

First printing press for Bank notes in India was established at
(A) Kolkata (B)  Aurangabad

(C) Nasik (D) Surat

WUIBY Batie Bt S0 He0d FIHBTVTTO H&?

(®) BRCYFY (W) Boonwens

(3) woze® (®) Reoss

Which organization provides credit history of the borrowers?
(A) CIBIL (B) cCu

(€) FRBI (D) IRDA

RIOMOTT 8 Bes 3BITI), Qi3 ROZ 04 AR 7

(®) 29e¢ (w) Ao,
(8) o.e0%.B.0, (B) o.e08.8..
e
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